
→

qEiEIEsoeo@OHDbge.c

sandal ) -

- 1943,77

¥¥T
484943,71

,
e) = has its

↳
.

Inept . pes .
- 3) E - came (444,2-1)=444,73

Lost -
find . 121 a) f ( 12,471

,
e) = 171

- 5) E - closure C Et 17=173
o : PCs ) × E → PCs)

d : Sx -2 → PCs)
6) 8471

,
b) = fed

t ) e - down ( tell = Let

JCT
, e) = self 86 , e) at EUN

, e) -

-
blocked

g) Output TOKEN 3 with

lexeme eeb
Lo) Reset end restart

( clean the input by eliminating the bat already recognised)

12 ) E - camels oh)= to ,
a

,
3,71 1h ) I ( 12.4.71

,
? ) blocked

1) FCK , 2,3
,
ft re ) a 424,71 and terminer

15 ) output TOKEN 2

23 ) E - came ( 244,711=42,471 lexeme a



SUBSET CONSTRUCTION

Wozkhst

-0--05-04300 .

#①

.to#/
*"

asinine

.

i¥
c 10,21 holes to

,
" I ( e . downfall ,

a)
D find

19*3
l " " " I

= foil

jfceonukoll ,
b) a

%¥→⑤0
.

lol

.
.



Cells)*ebb Thompson 's

* a ⇒ "

%⑧

b

t.amNFA → DFA HAD - ③ I④ at ⑤broke

as sin . " " aow.J.ie
B 215,617,212,4 ,

I }

5:13:I'
'

il! .si Einar .
" " 't

In '- ( tAlihcannot be refined

:÷÷:÷i
Iz -

. ( tan,
9173

,

IED

a

:÷
:÷. . .

B -

- ( LA .cl
,

LBS
,

103
,

# S ) Distinction

- :÷ :
STOP



⑥
Em ②

@
De Th

→ ③e-⑨b→⑤b→⑧
NFA

Babb T2

3) a
't ft Tg↳

⑦be⑧g,O

⑨
a

.

⑤
ma . a

⑤⑦⑤I
Th -

- ( LADS
,

1B ,
c

, Ei Fl ) E- This initial partition is

not correct w . ? t . the behaviour

AD!g,}
Be :( IA ! 1104401

,
he,E,H) of

the

Cbc
LA

To ( I At
,

IDS
,

IBic,
E

,
FI ) Ehf

F

Epc
BID This automaton in CORRECTLY

C %
Kiwi MAL W.lt . THE Union of

¥I¥ M possible LEXEMES

↳ a

Minim . L DFA - i

\
→

A=h943IB=1I,
→

GE , F = 45,6
,
@ I • b * NEXT PAGE

-
-

However
,

it does not

*#
b ① b

work correctly to recognise

HIT
a

¥
2) A → B the tokens

brain tael27
BID

after.ie?hen.dF.fEnY:
3)

Dbm
CEF outputted ,

Terence stetted
ok TOKEN 3 C stated )



THE INITIAL PARTITION To CONSIDER Host DISTINGUISH

THE FINAL STATES Witt RESPECT TO THE SET OF

TOKENS THAT CAN BE RECOGNISED .

In our example we have that find States are

B- 444,73 i. e
.

TOKEN L ( stated

⇐ to } i. e
. Token 3 ( States )

E = 45,8 } i. e . Token 3 ( states )

Fee 46,8} i. e . TOKEN 2 AND TOKEN 3 ( state 6 and

stated
To RETAIN THIS INFORMATION THESE FINAL STATES

MUST BE DISTINGUISHED IF THE SET OF RECOGNISED

TOKENS ARE DIFFERENT -

In our core they must be initiates petitioned in three

groups :

{ B } → only To RENI

{ GE ) vs only TAKEN 3

{ Ff → TOKEN 2 end TOKEN 3

Then the minimization can start as usual : →



Tz = ( LAID,
SB 's

,
Lc

,
E 's

,
IF } )

we try to partition

LAID
) :

A ED B

Dey D
→ they can be distinguished

Tz -

- ( tail
,

LD 's
,

SB }
,

I
,

IF 3)

we try to petition K,El

Ce! of → they con
be distinguished

Is = ( ha 's
,

SD }
,

IBS
,

Kl
,

IET
,

he } )

we stop because no group can be refined any more
.

THUS
,

in this are the minimization
, considering

the information on tokens
,

does not eliminate states
.

The LA works on the DFA obtained fun the NFA

¥¥TH
a) A Is B

& 2) Last -
Find C- 4223

,
update Input .

Pos .  -

Input -
Pos - Lost

. find 3) BED D

Lest
. fine -

-If µ #G) Dubs C

e)

Ats
B Vs hey 5) test -

Find ← HI , update Input - pos . .

9) Lest
- find C- 423

, upd .

.
. .

6) C # stop

Lo) BA end input 7) Output TOKEN 3 with lesemeoeb

IOutput TOKEN I with lex . or Reset Lost - find and input . pas
STOP


